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Continuous time RemaraAlgorithmically to simulate It

So far we have been running
we can just sample no Prist) and

run a steps of 0.
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discrete time past a future are independent.
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Remark. Main benefit of continuous -Poincare:This for 2
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Remark:In general the reverse doesn't holds Dirichlet form

Example. Periodic chains.
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However:

* Assume time- reversible
for reversible a lazy chains in z23:

Udt= (1-d)U+dt.UP = u + d.UID.It
say Dn>, 0
or 6n3, -Ye EMSLTF lECSCrolTrost

discrete timeI continuous time

- Poincare <52(1 - X10))
Sketch:

-

acusIfreTrinrNirn,itThis is because 12(15-2)FEP):2(1- -(P1)
So it contracts by = 22(1- x2(P))
Derivative in is 2(652101) Dirichlet form:

- Discrete time UI contraction>I- max(XPC,AIP)) lamLineEinColaNNgInllLhNcby assumption
this dominates



for 23, we get HA=X*
$x2X

Remarfor continuous- space MISILS5,

but absolutely Net in discrete space.

IM)) = -2)
Comparison of Manor chains

Princare:2(*) >, ovary
Suppose we have two chains P, p'

-For PuLI we get PIx1= x1941gx* that "look similar" and have same
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Comparison method (easy version) Comparison method (hard version)

What if P, p' are not this similar?
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